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SOLUTIONS...

Algebra 1
Assignment
Sketch the graph of each function.
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WARM-UP: Complete the chart given...
y= @XZ 12x + 10
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In Class Exercis

1. Complete the chart shown for the quadratic:

e...

Direction of Opening

Vertex

y-intercept

Domain

Range

Equation for Axis of Symmetry

Maximum OR Minimum

Minimum /Maximum Value

Sketch: Must h&

(/3|

?3 key points labeled

January 17, 2017



Untitled.notebook January 17, 2017

2. Change each of the following into vertex form... [ [8]
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3. Change the following into standard form and state the given propetties. [7]
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